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T994] T153,544] T130,096 723,448
R 11 F Elg % 616 (63,824) 65,126 (58,123) 59,415 (5,701) 5711
817 1136,302] 124,634 711,668
R 18 F Elg #% 769 (65,606) 67,094 (53,792) 55,268 (11,814) 11,826
11,592 1281,717] 238,924 142,794
EOOBR 19 EFR #% 793 (94,819) 97,393 (82,854) 85,419 (11,964) 11,974
11,414 244,638 231,623 113,016
R 20  F  Elg #% 767 (82,924) 86,664 (73,559) 77,212 (9,365) 9,451
11,4771 1283,743) 275,587 18,1561
T B 2 £ ER -l 873 (89,277) 94,726 (77,810) 82,614 (11,466) 12,112
& % 541 (76,384) 80,947 (64,950) 68,867 (11,434) 12,080
# (53 - - - -
R 53 - - - -
#® -] % - - - -
i & 332 (12,892) 13,779 (12,860) 13,747 (32) 32
i i & fa % 8 (608) 608 (401) 401 (207) 207
] % 8 (608) 608 (401) 401 (207) 207
# 5 - - - -
R 5 - - - -
#® I % - - - -
il &% - - - -
1641 113,734) 12,488 11,246
- 4 i E 438 (59,681) 62,719 (49,071) 51,477 (10,610) 11,242
= % 415 (57,750) 60,788 (47,157) 49,564 (10,593) 11,225
# 5 - - - -
R 5 - - - -
#® B % - - - -
il % 23 (1,931) 1,931 (1,913) 1,914 () 18
r110] T12,911] 111,202] 71,709
M = @ # 7 (343) 344 (338) 338 (5) 5
= 5 0 (19) 19 (15) 15 @ 4
# 5 - - - -
R (5 - - - -
#® B % - - - -
il % 7 (324) 325 (324) 324 (1) 1
T987] 1226,141] T221,112] 15,029
fE #® # 42 (4,400) 4,418 (4,103) 4,120 (297) 297
] 5 41 (4,391) 4,409 (4,098) 4,115 (293) 293
# 5 - - - -
R 5 - - - -
#® B % - - - -
i % 0 (9) 9 (5) 5 (4) 4
1186 20,829 120,660 1168
i@ @ # 308 (12,490) 13,372 (12,270) 13,152 (220) 220
] 5 29 (3,195) 3,195 (2,983) 2,983 (213) 213
# 5 - - - -
R 5 - - - -
#® B % - - - -
il % 279 (9,294) 10,177 (9,287) 10,169 () 7
r33) 12,511] 12,511
'Lt #® # 13 (2,826) 2,858 (2,819) 2,850 7 7
= 5 13 (2,773) 2,805 (2,768) 2,800 (5)
# 5 - - - -
R 5 - - - -
#® B % - - - -
il % 0 (53) 53 (50) 50 (2 2
196 17,618 17,615 T4]
b/ #® # 57 (8,928) 10,408 (8,809) 10,275 119) 133
E 5 34 (7,647) 9,123 (7,528) 8,990 (119) 133
# 5 - - - -
R 5 - - - -
#® B % - - - -
il % 23 (1,281) 1,285 (1,281) 1,285 -
1 dEE fa % 8 (608) 608 (401) 401 (207) 207
= % 8 (608) 608 (401) 401 (207) 207
# 5 - - - -
R 5 - - - -
#® B % - - - -
il &% - - - -
roJ 1771 1771
2 F & @ %% 102 (14,249) 14,250 (11,330) 11,331 (2,920) 2,920
] 5 92 (13,459) 13,460 (10,545) 10,545 (2,914) 2,915
# 5 - - - -
R (5 - - - -
#® B % - - - -
il % 11 (791) 790 (785) 785 (5)
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3 & o # 109 (11,814) 14,849 (9,228) 11,633 (2,586) 3,216
& % 109 (11,810) 14,844 (9,225) 11,630 (2,584) 3214
# % - - - -
R % - - - -
#® -] % - - - -
Gl % 0 (5) 5 (3) 3 (2) 2
(k] r217] 1148 169}
4 B B o # 49 (8,201) 8,202 (5.975) 5975 (2,226) 2,227
& % 49 (8,201) 8,202 (5.975) 5975 (2,226) 2,227
& % - - - -
R % - - - -
#® -] % - - - -
Gl % - - - -
129 16,876 16,142 1734
5 % H s # 86 (14,698) 14,699 (14,425) 14,425 (273) 274
& % 83 (13,874) 13,875 (13,609) 13,609 (264) 265
& % - - - -
R % - - - -
#® ] % - - - -
i % 3 (824) 824 (815) 816 (9)
roJ g5 85]
6 W ® fio # 91 (10,718) 10,718 (8,113) 8,113 (2,605) 2,605
& % 82 (10,407) 10,407 (7,803) 7,803 (2,604) 2,604
& % - - - -
R % - - - -
#® -] % - - - -
A % (312) 312 (310) 310 (1) 1
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7 & B s # 0 (14) 14 (13) 13 (1 1
= % - - - -
# % - - - -
R % - - - -
#® -] % - - - -
A % 0 (14) 14 (13) 13 (1) 1
8 % HW #“ # - - - -
= % - - - -
# % - - - -
R % - - - -
#® -] % - - - -
Gl % - - - -
9 #H K #“ # - - - -
= % - - - -
# % - - - -
R % - - - -
#® -] % - - - -
) % - - - -
108 5§ # %% - - - -
= % - - - -
# % - - - -
R % - - - -
#® -] % - - - -
) % - - - -
1niE X s % - - - -
= % - - - -
# % - - - -
R % - - - -
#® -] % - - - -
) % - - - -
12 F FE # % - - - -
= % - - - -
# % - - - -
R % - - - -
#® ] % - - - -
£ % - - - -
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# % - - - -
R % - - - -
#® ] % - - - -
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Gl % - - - -
133} 15,194 14,078 1,116
15 % B # # - - - -
= % - - - -
# % - - - -
R % - - - -
#® (-] % - - - -
Gl % - - - -
5] 13771 1337 r40)
16 & #® # 32 (2,119) 2,119 (1,880) 1,880 (239) 239
& % 32 (2,119) 2,119 (1,880) 1,880 (239) 239
& % - - - -
R % - - - -
#® -] % - - - -
Gl % - - - -
1758 #® # - - - -
= % - - - -
# % - - - -
R % - - - -
#® (-] % - - - -
Gl % - - - -
124 11,280 1,113 167
18 & s % - - - -
= % - - - -
# % - - - -
R % - - - -
#® (-] % - - - -
Gl % - - - -
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= % - - - -
# % - - - -
R % - - - -
#® (-] % - - - -
Gl % - - - -
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# % - - - -
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Gl % 0 (9) 9 (5) 5 4) 4
228 730,357] 128,132] 12,225
21 g B s # 8 2,111) 2,111 (2,073) 2,073 87 37
& % 8 2,111) 2,111 (2,073) 2,073 37 37
# % - - - -
R % - - - -
#® -] 3 - - - -
Gl % - - - -
176 17,477) 16,927 551
22 &% [ o # 7 (311) 311 (311) 311 -
= % - - - -
# % - - - -
R % - - - -
#® -] % - - - -
FE % 7 (311) 311 (311) 311 -
r49 16,353 16,212 142}
23 % AN s % - - - -
= % - - - -
# % - - - -
R % - - - -
#® (-] % - - - -
Gl % - - - -
10} 1708 1708
24 = E #® # 39 (1,260) 1,260 (1,260) 1,260 -
& % - - - -
# % - - - -
R % - - - -
#® -] % - - - -
fE % 39 (1,260) 1,260 (1,260) 1,260 -
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25 % B s % - - - -
= % - - - -
# % - - - -
R % - - - -
#® -] % - - - -
Gl % - - - -
r1oJ 71,206 71,204] 2]
26 = #b s # - - - -
= % - - - -
# % - - - -
R % - - - -
#® -] % - - - -
Gl % - - - -
217 K B s % - - - -
= % - - - -
# % - - - -
R % - - - -
#® ] % - - - -
Gl % - - - -
T9] 16,473] 76,473]
2 & E E #% 20 (2,606) 2,606 (2,606) 2,606 (0) 0
& % 20 (2,606) 2,606 (2,606) 2,606 (0) 0
# % - - - -
R % - - - -
#® -] % - - - -
Gl % - - - -
29 % B #“ #H - - - -
= % - - - -
# % - - - -
R % - - - -
#® -] % - - - -
Gl % - - - -
1361 13,824] 733824]
30 #1E L s # - - - -
= % - - - -
# % - - - -
R % - - - -
#® -] % - - - -
Gl % - - - -
31 B W E # 9 (589) 589 (377) 377 (212) 212
& % 9 (589) 589 (377) 377 (212) 212
# % - - - -
R % - - - -
#® -] 3 - - - -
Gl % - - - -
32 8 1B s # 5 (154) 227 (153) 225 (1 1
= % - - - -
# % - - - -
R % - - - -
#® -] % - - - -
A % 5 (154) 227 (153) 225 (1) 1
[EEN 76,383 76,383
33 [ W # %% 14 (1,053) 1,059 (1,047) 1,053 (6)
= % - - - -
# % - - - -
R % - - - -
#® -] % - - - -
A % 14 (1,053) 1,059 (1,047) 1,053 (6)
roJ 86 86
¥ B o # 221 (6,826) 7,630 (6,826) 7,630 -
& % - - - -
# % - - - -
R % - - - -
#® ] 3 - - - -
il % 221 (6,826) 7,630 (6,826) 7,630 -
T14] 1870} r870]
35 I 0O # # - - - -
= % - - - -
# % - - - -
R % - - - -
#® ] % - - - -
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UL - = & © 8 % B & % #
T160] 7160
6 5 o # 1 (145) 145 (141) 141 (4) 4
& % 0 (124) 124 (120) 120 (4) 4
# % - - - -
R % - - - -
#® 5 % - - - -
il % 0 (21) 21 (21) 21 -
37 & I #® =4 - - - -
= % - - - -
# % - - - -
R % - - - -
#® 5 % - - - -
Gl % - - - -
338 T E s # 0 (52) 52 (49) 49 (3) 3
& % 0 27 27 @n 27 1) 1
# % - - - -
R % - - -
#® B % - - - -
Gl % - (24) 24 (23) 23 (2)
[REN 12,351] 12,351]
39 F A s #% 12 (2,629) 2,661 (2,629) 2,660 (1) 1
& % 12 (2,622) 2,653 (2,622) 2,653 -
# % - - - -
R % - - - -
#® 5 % - - - -
ol % - (8) 8 @) 7 1 1
[IEN] r981] r981]
40 & [ #® =4 - - - -
= % - - - -
# % - - - -
R % - - - -
#® 5 % - - - -
Gl % - - - -
r16J 11,019] 71,019]
4“a g =B o # 0 (4) 4 (4 4 -
= 54 0 4 4 (4) 4 -
# % - - - -
R % - - - -
#® 5 % - - - -
Gl % - - - -
T24] 11,484] 11,484]
2 Kk & #® # - - - -
i % - - - -
# % - - - -
R % - - - -
# OB # - - - -
5 % - - - -
43 B8 K s # 21 (4,608) 4612 (4,608) 4,612 -
& % 21 (4,601) 4,601 (4,601) 4,601 -
# % - - - -
R % - - - -
#® 5 % - - - -
ol % 0 (8) 11 (8) 11 -
r24] 12222] 12,222]
4 K % E # 36 (4,316) 5,792 (4,197) 5,659 (119) 133
& % 13 (3,043) 4519 (2,924) 4,385 (119) 133
# % - - - -
R % - - - -
#® 5 % - - - -
il % 23 (1,274) 1274 (1,274) 1,274 -
7] r416] 416
45 T G #® =4 - - - -
= % - - - -
# % - - - -
R % - - - -
# OB # - - - -
5 % - - - -




B4 (FE#E ha, M58 :m°)

S 5 ]
s bt 3

g #iE & ﬁii E RARFER [T P s = o
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46 ERE # E2 - - - -
=& % - - - -
i 1% - - - -
R 1% - - - -
# ] % - - - -
i % - = = z
471 % B @ # - - - -
=& % - - - -
& 1% - - - -
R 1% - - - -
= ] % - - - -
% - - - _
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